Wordsearch 4 Times Table

Answer the calculations below and find the
answers in the wordsearch. f tlh|tl|lr]|t y|(tiwjo
tjo|r|flo|r|t t |t
L x8 = w|lr|rinjly|le/m|c|hle
410 = e|ble|lt|s|c|ly|lr|d]i
L] j|t]s o|t]|h
4x11~= J Y d 19
vix|eln|g|flo|la]|j|h
Lx3=
e|b|g|s|ym|jo|le|y]|t
Lx4=
s|y|x|la|d|r|{l|lu|ylg
Lix2-=
plr|bjlo|ln|s|y|l]|r]|t
s|i|x|t|le|le|n|r|le|b




Wordsearch 4 Times Table

Answer the calculations below and find the

answers in the wordsearch. W——o-
t|t
4x8= h ¢
4x10 = d i
4x11 = J ]
J
4x3= i
g9 Y
Lx4=
X uylg
Lix2= b ¢
s+—+1+x+tt+et+etn|rlel|b




